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Who gets Social Security?
• 48 million people receive Social Security benefits each

month, including
30.4 million retired workers
4.7 million widows and widowers
6.5 million disabled workers
4.0 million children

How important are Social Security benefits?
• More than 90 percent of people aged 65 or older receive

Social Security.
• Nearly 2 in 3 recipients receive half or more of their

income from Social Security.
• About 1 in 5 recipients get all of their income from Social

Security.
• Without Social Security, nearly half of all seniors 65

and older would live in poverty.

What is the insurance value of Social Security?
• For a young family, Social Security is equivalent to a

$350,000 disability insurance and $400,000 life
insurance policy.

• A 20-year-old stands nearly a 3 in 10 chance of becoming
disabled before age 65, according to the Social Security
Administration.

• For nearly half of disabled-worker beneficiaries, Social
Security provides half or more of their family income.

Does Social Security face a financial crisis in the future?
• Assets in the Social Security Trust Funds were $1.86

trillion at the end of 2005.
• Assets in the Trust Funds will peak at over $3.7 trillion

(in 2006 dollars) by the end of 2021.



Estimates of Social
Security’s Solvency

C B O S S A
S o lv e nc y  M e a s ure

Y ea r in w hic h a nnua l 
sp e nd ing e xc e e d s a nnua l 
ta x re ve nue

2 0 2 0 2 0 1 7

Y ea r in w hic h a nnua l 
sp e nd ing e xc e e d s to ta l 
rec e ip ts  (tax re ve nue  p lus 
inte re st inc o me )

2 0 3 3 2 0 2 7

Y ea r in w hic h Trust 
F und s c a n no  lo nge r p a y 
full b e ne fits

2 0 5 2 2 0 4 0

P erc e nta ge  o f sche d ule d  
b ene fits  p a ya b le  w hen 
Trust F und s c a n no  
lo nge r p a y full b e ne fits

7 8 %  in 2 0 5 2 7 4 %  in 2 0 4 0

• The Social Security Trust Funds will remain solvent until
2040 (2052 according to CBO).

• Even after 2040/2052, Social Security will still be able to
pay 70 to 80 percent of scheduled benefits from annual
tax revenues.

What is the size of the Social Security shortfall?
• $4.6 trillion (or 0.7% of cumulative GDP) in today’s dollars

according to the 2006 Trustees’ Report.
• 0.4% of GDP according to a 2005 CBO report.
• The 75-year cost of making the Bush tax cuts permanent

is about 2 percent of GDP – three to five times the size
of the Social Security shortfall.

For more Social Security facts, go to:
www.jec.senate.gov/democrats


